Page 1 of 5

11/13/2018 05:21 PM

Total Number of Voters : 257,742 of 431,390 = 59.75% Number of District Voters: 4,782 of 9,194 = 52.01%

Party	Candidate		Ea	arly		Electi	on	To	tal	
CITY OF STAFFORD - PR	OPOSED AMENDMENT A, Vote For 1	_								
FOR			1,500	61.30%	6	459	60.96%	1,959	61.22%	
AGAINS			947	38.70%	6	294	39.04%	1,241	38.78%	
	Cast Votes:		2,447	68.01%	6	753	63.60%	3,200	66.92%	
	Over Votes:		0	0.00%	6	0	0.00%	0	0.00%	
	Under Votes:		1,151	31.99%	6	431	36.40%	1,582	33.08%	
			Preci	ncts			Voters			
		Counted	Total		Percent	Ballots	Registered	Percent		
		10		10	100.00%	4,78	9,1	94 52.01%		
ITY OF STAFFORD - PR	OPOSED AMENDMENT B, Vote For 1									
FOR			1,910	72.71%	6	589	72.99%	2,499	72 77%	
AGAINS ⁻				27.29%			27.01%		27.23%	
	Cast Votes:			73.01%		807	68.16%	3,434		
	Over Votes:		0	0.00%		0	0.00%	0,404	0.00%	
	Under Votes:		971			377	31.84%		28.19%	
			Preci	nete			Voters		1	
		Counted	Total		Percent	Ballots	Registered	Percent		
		10		10	100.00%	4,78				
CITY OF STAFFORD - PR	OPOSED AMENDMENT C, Vote For 1		•				<u>'</u>	•	<u>. </u>	
FOR			1,853	69.27%	6	567	70.17%	2,420	69.48%	
AGAINS ⁻	•		822	30.73%	6	241	29.83%	1,063	30.52%	
	Cast Votes:		2,675	74.35%	6	808	68.24%	3,483	72.84%	
	Over Votes:		0	0.00%		0	0.00%	0	0.00%	
	Under Votes:		923	25.65%	6	376	31.76%	1,299	27.16%	
			Preci	ncts			Voters]	
		Counted	Total		Percent	Ballots	Registered	Percent	1	
		10		10	100.00%	4,78	32 9,1	94 52.01%		

Page 2 of 5

11/13/2018 05:21 PM

Total Number of Voters : 257,742 of 431,390 = 59.75% Number of District Voters: 4,782 of 9,194 = 52.01%

Party	Candidate		Ea	arly		Electi	on		То	tal	
CITY OF STAFFORD - PR	OPOSED AMENDMENT D, Vote For 1										
FOR			2,072	77.37%	6	634	78.76%		2,706	77.69%	
AGAINST			606	22.63%	6	171	21.24%		777	22.31%	
	Cast Votes:		2,678	74.43%	%	805	67.99%		3,483	72.84%	
	Over Votes:		0	0.00%	6	0	0.00%		0	0.00%	
	Under Votes:		920	25.57%	6	379	32.01%		1,299	27.16%	
			Precir	ncts			Vo	ters			
		Counted	Total		Percent	Ballots		stered	Percent		
		10		10	100.00%	4,7	82	9,194	52.01%		
CITY OF STAFFORD - PR	OPOSED AMENDMENT E, Vote For 1										
FOR			1.987	78.57%	6	627	82.18%		2,614	79.40%	
AGAINST				21.43%			17.82%			20.60%	
	Cast Votes:		2,529	70.29%	6	763	64.44%		3,292	68.84%	
	Over Votes:		0	0.00%		0	0.00%		0	0.00%	
	Under Votes:		1,069	29.71%		421	35.56%		1,490	31.16%	
			Precir	ncts			Vo	ters			
		Counted	Total		Percent	Ballots	Regis	stered	Percent		
		10		10	100.00%	4,7	82	9,194	52.01%		
CITY OF STAFFORD - PR	OPOSED AMENDMENT F, Vote For 1		-	-							
FOR	ŕ		2 023	78.99%	<i>L</i>	621	80.03%		2,644	79.23%	
AGAINST				21.019			19.97%			20.77%	
7.67.11.101	Cast Votes:			71.189		776	65.54%			69.78%	
	Over Votes:		2,561	0.00%		0	0.00%		3,33 <i>1</i> 0	0.00%	
	Under Votes:		1,037	28.82%		408	34.46%			30.22%	
			Precir					ters	•	1	
		Counted			Porcont	Ballots			Porcont		
		Counted 10	Total	10	Percent 100.00%	4,7		9,194	Percent 52.01%		
			l		. 55.5676	.,		-,	52.5170		

Page 3 of 5

11/13/2018 05:21 PM

Total Number of Voters : 257,742 of 431,390 = 59.75% Number of District Voters: 4,782 of 9,194 = 52.01%

Party	Candidate		Ea	arly		Elect	ion		То	tal
CITY OF STAFFORD - P	ROPOSED AMENDMENT G, Vote For 1									
FOR			1,920	73.34%	%	575	72.42%		2,495	73.12%
AGAINS	ST		698	26.66%	%	219	27.58%		917	26.88%
	Cast Votes:		2,618	72.76%	%	794	67.06%		3,412	71.35%
	Over Votes:		0	0.00%	%	0	0.00%		0	0.00%
	Under Votes:		980	27.24%	%	390	32.94%		1,370	28.65%
			Preci	ncts			Vo	oters		
		Counted	Total		Percent	Ballots		istered	Percent	
		10		10	100.00%	4,7	82	9,194	52.01%	
CITY OF STAFFORD - P	ROPOSED AMENDMENT H, Vote For 1									
FOR			1,704	65.749	%	527	66.96%		2,231	66.03%
AGAINS	ST		888	34.26%	%	260	33.04%		1,148	
	Cast Votes:	-	2,592	72.04%	%	787	66.47%		3,379	70.66%
	Over Votes:		0	0.00%	%	0	0.00%		0	0.00%
	Under Votes:		1,006	27.96%	%	397	33.53%		1,403	29.34%
			Preci	ncts			Vo	oters		
		Counted	Total		Percent	Ballots	Regi	istered	Percent	
		10		10	100.00%	4,7	82	9,194	52.01%	
CITY OF STAFFORD - P	ROPOSED AMENDMENT I, Vote For 1									
FOR			2,097	81.229	/6	641	82.07%		2,738	81 42%
AGAINS	ST		485	18.78%			17.93%			18.58%
	Cast Votes:		2,582	71.76%	/ 6	781	65.96%		3,363	70.33%
	Over Votes:		0	0.00%	%	0	0.00%		0	0.00%
	Under Votes:		1,016	28.24%	%	403	34.04%		1,419	29.67%
			Preci	ncts			Vo	oters		
		Counted	Total		Percent	Ballots	Regi	istered	Percent	
		10		10	100.00%	4,7	82	9,194	52.01%	

Page 4 of 5

11/13/2018 05:21 PM

Total Number of Voters : 257,742 of 431,390 = 59.75% Number of District Voters: 4,782 of 9,194 = 52.01%

Party	Candidate		E	arly		Electi	on	To	otal
CITY OF STAFFORD - F	PROPOSED AMENDMENT J, Vote For 1								
FOR			1,809	70.75%	6	569	73.70%	2,378	71.43%
AGAIN	ST		748	29.25%	6	203	26.30%	951	28.57%
	Cast Votes:		2,557	71.07%	6	772	65.20%	3,329	69.62%
	Over Votes:		0	0.00%		0	0.00%	0	0.00%
	Under Votes:		1,041	28.93%	6	412	34.80%	1,453	30.38%
			Preci	ncts			Voters]
		Counted	Tota	I	Percent	Ballots	Registered	Percent	
		10)	10	100.00%	4,78	9,19	52.01%	·
CITY OF STAFFORD - F	PROPOSED AMENDMENT K, Vote For 1								
FOR			2,202	84.66%	6	683	86.35%	2,885	85.05%
AGAIN	ST		399	15.34%			13.65%		14.95%
	Cast Votes:		2,601	72.29%	<u> </u>	791	66.81%	3,392	70.93%
	Over Votes:		0	0.00%		0	0.00%	0	0.00%
	Under Votes:		997	27.71%	6	393	33.19%	1,390	29.07%
			Preci	ncts			Voters		1
		Counted	Tota		Percent	Ballots	Registered	Percent	1
		10	D	10	100.00%	4,78	9,19	52.01%	
CITY OF STAFFORD - F	PROPOSED AMENDMENT L, Vote For 1			-	-		-	-	
FOR			2 160	83.91%	,	687	87.63%	2,856	94 779/
AGAIN	IST			16.09%			12.37%		15.23%
, 10,	Cast Votes:		2,585	71.85%		784	66.22%		70.45%
	Over Votes:		2,363	0.00%		0	0.00%	3,309	0.00%
	Under Votes:		1,013			400	33.78%	1,413	
									1
			Preci	ricts			Voters		
		Counted	Tota	. !	Percent	Ballots	Registered	Percent	

Page 5 of 5

11/13/2018 05:21 PM

Total Number of Voters : 257,742 of 431,390 = 59.75% Number of District Voters: 4,782 of 9,194 = 52.01%

Party	Candidate		Early			Election		Total	
CITY OF STAFFORD - PROPOSED	AMENDMENT M, Vote For 1								
FOR			2,023	79.65%	6	606	78.80%	2,629	79.45%
AGAINST			517	20.35%	6	163	21.20%	680	20.55%
	Cast Votes:		2,540	70.59%	6	769	64.95%	3,309	69.20%
	Over Votes:		0	0.00%	6	0	0.00%	0	0.00%
	Under Votes:		1,058	29.41%	6	415	35.05%	1,473	30.80%
			Precincts				Voters		
		Counted	Total		Percent	Ballots	Registered	Percent	
		10		10	100.00%	4,78	9,19	52.01%	6